efficiency efficiency efficiency

efficiency

1  999000000°¢00007, SQ0o P99 9ge000000090000 00 0ooeSeevgToudovetetTesveUe, ..0|
0.9
0.8
0.7E
0.6 =
05 wheel 0 chamber 3 sector 8 sl 1 layer 4 I
' 10 20 oU -I4I0IIII5IOIIII6IOIIII7IOce;|
1 0°00004000000009°0,000°600900°00000540000000¢00009¢000¢0°0°5000 ‘o“.oi“
09—
0.8
0.7
0.6 E=
05 wheel 0 chamber 3 sector 8 sl 1 layer 3 I
' 10 20 I¢]0) -I4IOIIII5IOIIII6IOIIII7IOce;|
1 Eon“nmo.w“m“noumn.umummom.mmmm“nu
0.9 —
0.8
0.7
0.6 E=
05 wheel 0 chamber 3 sector 8 sl 1 layer 2 I
10 20 30 40 50 60 70,
1 l;on.omo.o'mmmomoo.inmm.ougoom.mm.“.o °
09
0.8 E—
075
0.6
wheel 0 chamber 3 sector 8 sl 1 layer 1 I
0.5 3

TO 70 0 20 50 60  70.

cell



